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1.1.1 {Q  

Bk  bM  Max

�  

�

1  

-R      Unit(MHz) 

GSM F z

L  

A z

L  

E z

L  

890- 
960 

1710- 
1880 

1880- 
1920 

2010- 
2025 

2300- 
2400 

TD-UE�UE
Z"� 

=<1.20 
1� 

 
�� �� 1�11 1�11 1�1 

TD-UE�TD
Z"� 

=<1.20 
1� 

 
�� �� 1�11 1�04 1�11 

TD+GSM-U
E�GSMZ
"� 

=<1.20 
1� 

 
1�05 1�11 �� �� 

�� 

TD+GSM-U
E�TDZ"� 

=<1.20 
1� 

 
�� �� 1�1 1�14 1�11 

TD+GSM-U
E�UEZ"� 

=<1.20 
1� 

 
1�11 1�06 1�04 1�08 1�1 

TD-CE2010
�TDZ"� 

=<1.20 
1� 

 
�� �� �� 1�18 

�� 

TD-CE1880
�TDZ"� 

=<1.20 
1� 

 
�� �� 1�13 �� 

�� 

TD+CE1880
+gsm(fromC
E) 

=<1.20 
1� 

 
�� �� 1�04 �� 

�� 

TD+CE2010
+gsm(fromC
E) 

=<1.20 
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�� �� �� 1�07 

�� 

TD+CE1880
+gsm(GSM) 

=<1.20 
1� 

 
�� �� 1�04 �� 

�� 

TD+CE2010
+gsm(GSM) 

=<1.20 
1� 

 
�� �� �� 1�04 

�� 

TD+CE1880
+gsm(UE) 

=<1.20 
1� 

 
�� �� 1�06 �� 

�� 

TD+CE2010
+gsm(UE) 

=<1.20 
1� 

 
�� �� �� 1�04 

�� 

Port1+TD-U
E�TD"� 

=<1.20 
1�  �� �� 

1�1 1�14 1�09 
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Port1+TD-U
E�UE"� 

=<1.20 
1�  

1�11 1�06 1�05 1�07 1�1 

GSM + TD 
-UE�TD "
890-915� 

=<1.20 
1� 

 1�12 
�� �� �� 

�� 

GSM + TD 
-UE�UE "
890-915� 

=<1.20 
1� 

 1�11 
�� �� �� 

�� 

GSM + TD 
-UE�TD "
935-960� 

=<1.20 
1� 

 1�07 
�� �� �� 

�� 

GSM + TD 
-UE�UE "
935-960� 

=<1.20 
1� 

 1�06 
�� �� �� 

�� 

1.1.2 Bk,V  
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S h

q�  bM  
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MHz 
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MHz �1  -R  

TD-CE1880+G
SM-UE(T0 CE) 

TD-CE
1880 

>25 
<28 

�� 25.7 ��  
��  

\�C0(

fdBk�
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Y7(�  

TD-CE2010+G
SM-UE(T0 CE) 

TD-CE
2010 

>25 
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�� �� 27 
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1.1.3 8+9  

,V8+9�
FOUjPGnJ	Te
bM 0.1dB��G<#_�g 0.15. 2v

wb5s?m 0.1dB �

Bk  Shq�  bM  max min diff �1  -R  

TD-CE1880(fzL�) 
TD� CEU
IN" 0.1 25.79 25,64 0.15  cu) 

TD-CE2010(azL�) 
TD� CEU
IN" 0.1 26.99 26.9 0.09  cu) 

TD-CE2010(ezL�) TD�CEU IN" 0.1 �� �� ��  

\�C0

(fdB

k� &

EzL��

rGY7
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(�  

CE1880-UE(FzL�) CEU OUT
"� UE 0.1 19.05 19.02 0.03   

CE2010-UE(azL�) 
CEU OUT
"� UE 0.1 19.1 19.04 0.04   

CE2010-UE(ezL�) 
CEU OUT"�

UE 
0.1 �� �� ��  

\�C0

(fdB

k� &

EzL��

rGY7

(�  

TD+GSM-UE(azL
�) 

TDl��
UE 0.1 7.81 7.72 0.09  

 
 

TD+GSM-UE(ezL�) TDl�� UE 0.1 �� �� ��  

NH� E

zL�! 

(��3

7(�  

TD+GSM-UE(fzL
�) 

TDl��
UE 0.1 -7.9 -7.86 0.04   

TD-UE(azL�)  0.1 -4.7 -4.59 0.11   

TD-UE(ezL�)  0.1 -4.42 -4.44 0.02   

TD-UE(fzL�)  0.1 -4.53 -4.42 0.11   

Port1+TD-UE(azL
�) 

Port1"�
UE 

0.1 -7.81 -7.87 0.06   

Port1+TD-UE(fzL
�) 

Port1"�
UE 

0.1 -7.6 -7.45 0.15   

Port1+TD-UE(ezL�) Port1"� UE 0.1 �� �� ��  

NH� E

zL�! 

(��3

7(�  

1.1.4 4X9  

Z"  bM  
max 

�

1  
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GSMZ"'
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i6 

<=0.1 0.01   

TDZ"'.? <=0.1 0.04   
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Z"U7�i
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�i6 
<=0.1 0.09   

1.1.5 A>  

Bk  bM  
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TD-UE <=5 � 4.48 4.43 
4.66 
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Kpk
�

`]>;y
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�� 18.6 �� ��  
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<20 
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UE 
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UE-CE1880�ce in) >40 �� 81 �� ��  
CEU IN" 

`=� 

UE-CE2010�ce in) >40 �� �� 85 ��  
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